T et s v (RSSB), g s

qY ot e

W : (37) 9. mmﬁmﬂmmﬁ‘?

(1) \ifAea, wamaen (2) TS, HAGH
ng‘é (3) 3faut, aETT (4) fages, vafTss
fre foereT o Ry A 10. form fameg § = ot wisg stvrg & ¥7
: (1)mﬁ=a@+£ﬁwﬁmt (1) i, yeaifera, waiad
(2) TEY = T + o (2) werafera, dqe, waraf
(3) TR = wf + sty (3) watuf, weafem, 39+
4) e = q0: + fiq | (4) e, wafedt, weaferd
2. T ¥ R fRw vy wifa- e wE @ b 11. ‘Defendant’ T fodt TS ¥Teg &-
() forfe - fog + s (2) or = 7 4 3 (1) gen g (2) sTTadh
(3) ST ~ ST + WIN (4 snferpel = sAfa: + A (3) whcrae} (e R
3. Tt ¥ @ forw fomea & woft ol o Swwet qar 12 “This may be suitably amended’ 3T &= aT=R ¥
T () 1w g 2 (1) = e ferespet 31 &1
(1) sretfsrsram, worEfe  (2) 3T, feama (2) EH SuF GrY foran =T R
(3) IS, TR (4) TR, T (3) ST Heifera 5@ fora s @
4. famé;aiaﬁmﬁaﬁm‘ﬂaﬁ%— (4) ooty =X 39 3 9 |
(1) fea (2) T 13, Frefafea § waaraes |@aT S ¥?
(3) suE (4) FH (1) wE 2) ¥R
5. ''viven ¥ fom S WY el @t I A ) A (3) 7 4) T
& form s ¥ arfig @7 14. TR wWiT ®1 W AW §7
(1) i = = (2) ST T e (1) <= @) T
(3) o } R (4) ST R 3) g @) v
6. ‘TR’ W= ¥ T www A §? 15, e wr v
(1) st (2) 5 (1) = A @) o
(3) &7 Sl 3) ™ @) T@
7. P’ e feRe WA T ST 87 16. form are i Waiuaram W 2
(1) 58 (2):1{“!3 (1) Fo&¥ +ft Tman §, o oo
8 gqu' ﬁmmm(:‘)samwt? 2) TR g W
s Wﬂ_’:{m (2) T T (3) THYER ® W T T, 9% ¥

(3) eterea T (4) wehfeTmme () s o el o




17

18.

19.

20.

21.

22.

23.

24.

AYSITETSE WA foRm A § F

(1) ¥ =1 & & (2) =TEY HYE @ R

(3) oM F11 oA # (4) Y2 F© T72 Wfeu

e ¥ Ufew ux w0 are foemy & faw s e

ATAT U FHEETAT ¥7

(1) fagfa (2) fafam

(3) FTEmE (4) ufas

U €1 UF 7 Ush 91y % it s O e

¥, o T @ ¥7

(1) ufres (2) F197

(3) fasfa (4) A=

form arem & wedam @ wafm 1 ¥

(1) & 3o wfg medt s @

(2) @ Fr¢ TE ®

(3) =t 9fts Fom FE s9f am

(4) H o A F AN Fofn e, e T oM

T ¥ faviver suare’ §?

(1) T&st 3 e fF 3 o &Y o |

(2) 1 ToC g3 foet 9, 3 =+ = T

(3) ® e 9%l vgw, 5% =en T

(4) afc F& wem @t § =5

T | it fasmor =& §2

(1) &g (2) et

(3) Figw (4) TARCH

T T 8 US-H & HaY § I H97 TEt

& %7

(1) 993 a1 H %, il % &g S ¥ |

(2) foran fasmm fF @ qed e s ¥

(3) Tl o e foben A weet o ¥

(4) fe=i= foran 9 g 4 veat iR o % o o
T ’

fora araa ¥ forar &1 e el wal W UE, 39

FEd €2

(1) TF9= fFa (2) sRH® forar

(3) g (4) STomeds T
. farw faemea 4 faem g §7?

(1) Hge-d7= (2) fora-fae

(3) 97T (4) =g~

26.

27.

28.

29.

30.

% 1 8

fop fasreT o faeia G 7

(1) oTFaa- o (2) Wtfvm
(3) vma-faga (4) H=a-d=
fopm ATyt @ foTT W vTeg Areleh Tl #?

(1) e WA B U A B ATe - AT
(2) °ia q@ =en - T

(3) ufs o fawroo e aren - faere

(4) fordy Tk faver o St @) - aea
fore aTaRITyT % foru woeh yreg Avdn T %7
(1) afa vt & forer o & - afaer

(2) ¥ I FHIAT - Gl

(3) ot ST AT - g

(4) f&an %13 amen- ffaw

‘gfasit BT’ TETaY T wE A §-

(1) 1 T (2) T A
(3) &t oty B (4) FHEE B
form amerivT & o wgh vieg e TE &7

(1) foraat srva foan < g 21- 3FYa
(2) 5/ it =1 <1 9k - g

(3) o aa= =m FA aren- et
(4) IR F WG F GG - GG

HAT: ()
W 3Tt
The government's decision was extremely

unwise.
The word 'decision' in this sentence belongs to

~ the class of words called-

32.

33,

34.

(1) verb (2) noun

(3) adjective (4) adverb

I hurt myself. The underlined word is a:

(1) personal pronoun

(2) demonstrative pronoun

(3) reflexive pronoun

(4) possessive pronoun

Pick the correct option to fill in the blank;

Cattle driven all over the fields.
(1)is (2) are
(3) was (4) has been

"Blow the horn." The passive voice of the
above sentence will be:



36.

37.

38.

39.

40.

41.

42,

- 43,

() Let the hom blown

(2) Let us blow the horn

(3) Let the horn be blown

@ It is requested to blow the hom
who created this mesg?

(1) By whom was this mess created?
@) Who has created the mess?

3) This mess is created by whom?
(4) How was this mess created?

He ordered them to lock the door.
(Direct Speech)

(1) He said to them, "Plecase lock the door."
(2) He told them "You locked the door."
(3) He tells them, "Lock the door."

(4) He said to them, "Lock the door,"

How money do you have—

(1) many (2) much

(3) few (4) lot of

Fill in the blank with the correct article: He
works in L.I.C. of India. '

(1) zero (2) the

(3)a (4) an

He is greater than I am. (Negative)—
(1) He is not grater than me,

(2) I 'am not so great as he (is).

(3) His great, I am not.

(4) He 1s not as greater as I (am).

"Are you not going to the party?"

(1) " g IS F oW @

@) " g W T @ A

(3) "' gH Ol H ' @ o

@) ‘= gH 9 A AT W oA
IR & & AMAT | A B

(1) What happens if he comes not?

(2) What will happen if he is not coming?
(3) What will happen if he comes?

(4) What will happen if he does not come?
Choose the synonym of the given word:
Pester

(1) Console (2) Annoy

(3) Gratify (4) Torture
What is 'On probation' called in Hindi?
(1) wfifrfs = (2) i
(3) wfafafaa (4) FEITF R

VL TITANTI ] AT T UMY

44. 'Record' st W&t urfvuriirer =& &-

(1) stfverg

(2) Fifdema
(3) = w T (4) gfea FTT

Choose from the options below to transform the
sentences as directed :

45. She is greater than I, (Transform into Negative)
(1) T am greater them she.
(2) She and T are not great.
(3) Lam not so great as she.
(4) She is not greater than |
46. Choose the correct option for Assertive to Interr-
ogative transformation of the sentence given:
I am not the man to submit.
(1) Is there a man to submit?
(2) Am I the man to submit?
(3) Is that a way to submit?
(4) Should a man not submit?
T : (H)
HMHAE AT
47. RYM T Uiyem ¥ g Femaia farem &7
(1) 69°30" it o= & 78°17 ' el
(2) 69°30" Y&t =R | 78°17 ' wfg=Hl
(3) 69°30" qfg=dt & 78°17 " qat
(4) 69°30" qfgat |/ 78°17' ufg=t
© 48. TafefEa sresht wda firat ¥139 fred &
FE1E o ER Ted W W HHAG B~
(a) Tl (b) IS
(c) TS (@)
(e) Temmamet
He:- 4
(1) @), (d), (0), (©), (&)  (2) (a). (d), (e). (b), ()
(3) (@), (b), (©), (), &) - (4) (¢), (d), (c). (b). (a)
49. TSR % Y6 & g, Y6 &t ® " Uer-urr’
weg ferman fore wgem gem &2
(1) 7 A (2) qfrma wiat
(3) &l 5 (4) I <T@
50.

TR o Frefafen # @ few faet i weig fgt
TS Wt §7?
(1) e
(3) IR

(2) I
(4) S




S1.

32.

54.

35,

56.

57.

Pt 3 st i = feg v st s w87
(1) Heey (2) 5=
AHAHT-1 =Y aferenr-11 & gafem Fifaw six =
fed ™ 2 & vt 3o @ wmw @
arferaRT-1 aferanT-11
(A) 3579 (1) S
(B) 171R (2) m
(C) T (3) TR
(D)9 FFR (4) SR
Fe:-
(A) (B) () (D
(Hh 3 I 4 2
(2) 4 3 2 |
3y 3 4 ] )
4 1 4 3 4

. ﬁmféﬁgaﬁaﬁw-tﬁﬁwmwu’mm%

St SAferRTeT: ufyet e ¥ arit S ¥7

(h &g (2) ¥
(3) & (4) =T
TSR & TS & a9 i | Toel § Ul o 87

(1) ST, HR, ITAR, TOHER

(2) Fr21, g1, aRT, FaATEHEgR

(3) IR, SR, YREqR, &1

(4) AHAE, FRY, HATS

TSR ¥ S A TFE T A ¥7
(1) ST - STER - AT H-Sa T

(2) SR~ -gE-HH

(3) TG - AR -G - SR

(4) FHTR-STHEER - Feite] - SrREeT

2011 =t ATUTAT & 3THR, 400 | 3iferen SEEAr
T ATt et s e st

(1) S (2) H=

() 971 (4) TR

Fe:-

(1) (1), (2) 3R (3) ) (1) &R @)

(3) 3) ¥R (4) (4) (2) 3R (3)

e & feifea W 9 foa fer & wramar =
Had &Y 7
(1) fett
(3) FaTaTES

(2) WTEIR
(4) YW

58

59.

60.

61.

62.

63.

64.

65.

66.

o ¥ 1817 3. ¥ $% 3(USA T & oy,

i wT ATAT WIH T a1?

(1) ST (2) FAedt

(3) HarE (4) =eRIR

TSTER W TSTYATT TSHAET sl TATIAT S i 77
(1) 1832 3.9 (2) 1834 §. H

(3) 1835 5. H (4) 1838 5. 1

1857 T whifd o THA ' TAYATT' | U2 T Tapdy
A i oa1?

(1) Srst @ (2) =t uer, e
(3) HF T (4) T $&7

Thfar 776 % A H Frafafad weel o feem it
1. Tifa fift (T6) 9% <A e TR W o
2. ST S 1858 &, ST T K SISH TH H g
3. I ER1 1902 3. H FET T ! TATTA] <t WA ot
4. Ggao W F &)

TR HUHL | W BT FHIA HE 8-

F-

(1) 1,2,33R4 (2) 1,334

(3) 2,33 4 4) 1,2 3R 4

LA o TehIShIUT T ST AT &7

(1) TER IEAYHTE 9 <l (2) TR ATe Ae®

(3) AT (4) EHreer v
Frefafaa & @ =Far /mw §?

(1) TSIt BeT- WIETE YR QU

(2) T wew- sAfeart gfoten

(3) T Hedl- S SR

(4) et Ae- == Y 9

e & & =i aq are

(1) S (2) @t

(3) <aw (4) e

AR S Tt O g % fer fen s ¥,
ferm =it o1 wa urufies e e 2

(1) =rersiferan ) e

(3) weftn (4) Tom

W R A T YA A A?

(1) TSt (2) waTST

(3) Hef-ersit (4) TREH



6

| o

| 6

| 0.

710

72.

13.

| 7.

{ 7s.

k76,

-l wot e forw e o o e &7

() (2) TR

(3) T (4) T

preaferfe ® & T gt e §2

() m—a’ﬁ

(2) RS

(3) R -

(4) WA A TR -2

sraTeTTEl feRTreRT =T %7

(1) S (2) Tt =1 ek

(3) TTE (4) et

<, TR, ST, T v P R wafer b
(1) TR (2) T

() F (@) st

SeTehell WIRTTaN o YT 3 fom w6 giifvm
T ¥?

(1) A @) T

(3) ¥ A (4) ATt 3

fire X fonw slielt a8y ' oftelt” aieht =t e S 2
(1) ATt ) FrrEt

(3) fem (4 R |
T T AT & g Wieg ¥, T vreg foneren

ferg wftrg g2 ¥7?

(1) ¥€ TH THR F1 el &
(2) TE TH TFR F GG ©
(3) 9% T VR H1 T e §
(4) 9% T FHR H 9§ |
' BT WS- TT-gTaT’ T TeIfal i &7
(1) Tafa e (2) SR
(3) Fewta (4) <fig gt
T e & &7

[wdeT e ] [ Reafa ]
(1) wTeTTE Yo - AW
@) TRE fear - e
(3) Hiue TR © - I
(4) eaarET - e
ST TS & TS & A1E waiteen HIeur 3T
e qgT AT? '
(1) 1964-65 (2) 1976-77

(3) 1987-88 (4) 1998-99

i

78.

9.

80.

81.

82.

83.

84.

85.

: WWWWWWWWWW?
(1) 1 Sartt, 2007 (2) 6 TaawT, 2007

(3) 6 faawart, 2008 (4) 25 FFIAL, 2008
for ifees wyite aufam gr e #
TSAWHE T e T & T2

(1) 7ot wifaufer donea sfufm, 1956

(2) sai wifaenf gonaa sfufE, 1954

(3) 83 Hifaunfra deore stfufad, 1956

(4) 6ai wifautas danea aAfufaa, 1955

Sfium wyfr & reT w2 T T TEe A BT
¥ foerravT g # faar T ar?

(1) 1431 faerTgesn 9@ 2013

(2) 1141 fasr@sn 7@ 1998

(3) 1241 faurEY 919 2003

(4) 1391 faumET g7 2008

e o worm fratfad erehditaeh dieh ol TS
gaT?

(1) 3 A4, 1952 (2) 1 314, 1952

(3) 15 7dd, 1952 (4) 30 31, 1952
TRAT & o e W RS wh
(HIRHT TR ) & fawg faur qun -
Afavara weTa T T A9r?

(1) SR = (2) T TrEfETe

(3) AT e (4) sfRa <t

wfaam  qewEt @ wee i €2

(1) ITT=% 163 H (2) AT 213 A

(3) AIT=T 157 H (4) TT=T 167
Torer ¥, ' T e ST e feerd €7

(1) SR Q)

(3) SR (4) TR

ITEUE T WITEH fohaeh FEwor § &7

(1) fowma sty

(2) e (F fefasm wfoge)

- (3) e wg@

(4) 53 =ty

Tt T HEAT Shi THEArSil T HeqqT e
¥ WA TR AT 1986 # oAl § ¥ fww
wfufa = e ferar man? »

(1) 3Tee Fga WiAta () %. o fE

(3) TR wfufa (4) Tt m. Fefweht afirfa



86.

87.

88.

89.

90.

91.

92,

93.

94.

98

o uftdern o styg arftor @ @ anarya

faursit #t wifeftn w82

(1) -7 7=t (2) Tt A
(3) 9.Tm. SSFen A (4) H@UE AT uE.
AR YT o W IaToerdt 3 %7

(1) 3FF (2) HFFH

(3) s (4) %A

TS (At q@w) % wEoT g 7
(1) faamy (2) Sfam

(3) FF%F (4) A

=1 7 | =i g g A 2

(1) Fufgerda (2) forzram

(3) T et (4) frrags Aferie

YAt 7 g4 ot fohol uget o wnu fameen wwa
T 7
(1) s fae (2) 6 fr2

(3) 8 fae (4) 9 fore
Frefafea # ¥ 2t ws arq =g go w=E
Al 82

(1) faes (2) Tiee
(3) Iefaray (4) &=

T FATE A TATE i I A 4 Wi
w87

(1) o9z +Fs (2) F2 +F5

Q) Fga+ IR+ F5  (4) 3t + forge + Feefe
fa2re & ot +ft wrgen sroran wiest 1 ot =
'@ﬁ?ﬁ%?\[, TATAT (press) HATAT -

(1) fawe + feeiie + g=x

(2) g4 + fage + feefe

(3) o + fediie + F9ar

(4) FIa + fae + D

MS € ¥ Ctrl + Return &1 WA faRar sirar 7

(1) Fd-= (2) F-4=

(3) U1 5 (4) 9 feeite
frefafaa # ¥ FF-91 U U B aEa w
fefsreet grer 9 & fog e farar smar §2

(1) USB (2) Scanner

(3) Printer (4) Modem

v :(F)

TfuTa

96. fagew, fafre dun fAffe &4 6 adar 3y 5
anr 90 ad 21 e ad gd IAd) Y P AU
1:2: 31 fafre & adum sy #0027
(1) 40 ad (2) 30 4
(3) 1% ad (4) 20 T

97. mmmswnﬁmmﬁzﬁm%fm
T T, W fmd e 73 % T W 37 Ay
54 % 14T 45 fer foam | 39 et 3Tt 3fad 59
TR F3TT At ATeatass SiArs 21 e A1 it -
(1) 68 (2) 55
(3) 75 (4) 60

98. et drenm & 20 wHETTET 1 3Ha wfEE FA
4500 U9 ¥ | afe was 1 aaq |t afmfea w
fean <3 ar aftga wmifaes 49 a9t 5000 399
B AT ¥ | WerueR o wifeR AaA AT FiTAu-
(1) 12000 #9% (2) 14000 94
(3) 15000 #74 (4) 10,500 ¥13

99. T& HHA @ daa | 40 ufdera A HH aw
4l 7E {5 A% a1 I9D ITT F 50% gfE B
§ 1 s 39 fhan wfdwa el gd?

(1) 15% (2) 25%
(3) 20% (4) 10%

100. T ITH U= = /9 2000 § 3000 g4 =704 1 A2
A I 25% TS AT T 10% FaT & T AAHA
Bl T 2002 H Fait =t (ATt T AT -
(1) 2010 (2) 1900
(3) 2000 (4) 2025

101.hT$ T 10% TTH & it 7€ afs a8 36 TUa F0F
el ATt At 8% T FIE | =T T S e AT Y
(1) 300 %. (2) 350 %.

(3) 200 %. (4) 260 %.

102. W X ek A TAIT =T 20% Y UT &= &1 7
THY 3 38 WA R 25% AH UL e fram | Az =i
900 %. fedr =Y, & Trer ¥ T Forary v i
(1) 600 =. (2) 690 .

() 760 =. (4) 900 %.

103.3 : 5 3TUTT & Yelreh U & it weam wre i
ATAT 2 : 3 B -
(1) 1
(3) 10

(2) 10
(4) 2




(04,5 TN 4T BT YA 3B e 7 B Hew
@ AR 81 UH BA 91 U @ B gl @
FrgaTE @1 Erm?
(1) 3:3 (2) 3:4
(3)2551_&% 4) 3:2

05. A&7 & T UM 4 : 5 ¥ 1972

P a1 o 80 %. € A wft 7 o7 £ A

' 1 ,
106.5000 . 1 1-T4 F 4% aiffes X wwgfe arwt

fra €N Weafd e aiffe 2 @2
(1) 404 %. (2) 604 5.
(3) 504%. (4) 304 .

{07.8,000 B. T 8% N4k Tehgfg =T # T QA 11
2

ad T Tehglg SN AT 1 Tafh s WA
A grar ¥
(1) 9547 45 =. (2) 99891 ®.
(3) 995.19 %. (4) =1 7
108.5: ©0CT Uh W qor amew gd| Al
afvedl HA: 2,4, 6,8, 10, 12 Jovs B IR
¥ gul, A 30 e § 9 fdad IR s goim?
(1)4 () 10
(3) 15 4) 16
109.3f2 f& w1 B A B RAaww 15R7 & T
shenl B20 39 A g1 #wan B, @Y A aden S9
o &3 % g svw?

(1) 60 (2) 45
(3) 40 (4) 30
110. Rraeir SIYUR | wEa1 & A7 @t 120 . @

H) AT Alafhd ¥ 2 °90¢ § 94 oxal 8| S Bt
Hex arEfda 9 9 5| 7

(1) 60 f&#)/=aver (2) 40 fa& 1 /aver

(3) 75 fHl /avct (4) 55 fHH/9ver

1A B @l g8 @ ¥ FR 75 . /aver @t

o1 A 50 N a9 ol 81 O 98 S &
60 fdt /ever =T W s w0 # q7

(1) 5 =veT 15 e (2) 6 =vel 15 & e
(3) 6 GUCI (4) 5 9vel

112,772 1000 5. 1 AT B 3:2% gua §

fveg fpar o, @ A @ A< &F-
(1) 400 . (2) 500 3.
(3) 600 . - (4) 800%.
113. Q) Rv=1 PaQ$qméi§ﬂ9mfazﬁ%,am
ﬁaﬁwpassfawﬁ/avaaqaﬁqﬁss

LR L R ]

(1) 10 (2) 9
{3y 3 4 7
114,39 60 bt /aver @ =ra § ga Fad
AT X o @ | @en 100 fER/=ver Bt A
QA o T 1 A wegEl A A WA AHA
ot T BIm?
(1) 75 f&f /aver (2) 60 f&H1/=ve]
(3) 90 fF1 /v (4) 60 f&#1/=aveT
115.54 f&f./quer & TR F o1 @ 150 HeX
TR AT e e @ U B fhaw T A

IR Y ATM?
(1) 10 ¥Fvs (2) 25 dHTS
(3) 15 d&vs (4) 20 H&TS

116. 3 3 90000 %. AMHR TS AR e fHar]
a9 W' 9 w2y ot 120000 F. TR
A T afe 29d @ I H FaA ™ 91000 7.
B, @ S D 9E B I grm 7
(1) 9000 3. (2) 10,000 %.
(3) 7000 %. (4) 20,000 %. .
fordor: Pt e 6 SR YTUS 1179120 3 S AISTC-

90
80
70
60
50
40 1
30 1
20 -
10 1

0 -

1995 1996 1997 1998 1999 2000 2001 2002

aq
117. 3 1997 F A1 A o 1998 H IATEhT & AT |
fenat wfagra &t g ?

(1) 33%% (2) 30%
(3) 25% (4) 20%
118. fara ouf § It &1 IATEA, UeH ad & AAd
IAE | ATk gam?
(1 (2)2
(3)3 (4)4
119. fora o % 1 fuge ad &l AT H, IS & Wiavra
o waitasw Ifa g2?
(1)2002 (2)2001
(3) 1996 (4)1997

120.39 1996 4T 1997 H IRahI oh Fot AT AR T4 1995,
1998 T 2000 & Fel TG T AU I 417
()5:6 (2)6:5
(3)20:29 (4)13:24




13.
18.

19.
24.

25.

26.
30.

31.

W : (o7 ) WA fEt

(2) =TT~ AR = AR + oA (< df, saeE
wfty) | =t < |fy (o191 = on1) qen e Gy (‘7'
F 0 & 9 ¥ HRO) I S
(1) =aveE: - fag+anfe = fmrfe

1) 4. @ 5 @3 6. (1) 7. 3
2) 9. (2) 10. 3) 11. (3) 12. (2)
(1) 14. (1) 15. (1) 16. (1) 17. (2)

(3) =areT:- 1. fagfta : foafa v @ a4 - i
F0 foran 1 2. FafareT « w@rd wd R wEER wiasE
TR o7 fore Fafor vl =t T=g=1 T |EA
amgfd w13 afs & fow s F@ W ¥ 9
el % gard THER 9= H SHA | 3, SR
: qd ¥ fo@ M fRet o3 it sTIer 7 e W
W< F A 1 S Y Fi ST @ I T H
W ® | 4. 9O : 9itym w oedas F AW Qs
A W ¥, 9§ T € gE oy, fiw @ wew
F% gl SIuel wEeal w1 A 8 U ufifeufa
¥ feran s aren T 9ftem @ Tedt 93 FEenar 21
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